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  kg  L  
 

kg  L  

 183 464 3,530 2.5 19.3 

49 106 1,180 2.2 24.1 

134 358 2,350 2.7 17.5 

  
A 

 
B 

 
C =B A  

 
D = -C) 

 464.17 139.22 30.0% 70.0% 

106.12 38.28 36.1% 63.9% 

358.05 100.94 28.2% 71.8% 



2

39.9% 15.9% 4.0% 1.6% 18.4% 

47.9% 15.4% 4.2% 2.5% 25.8% 

36.9% 16.0% 3.9% 1.3% 15.6% 
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 0.6% 12.5% 8.6% 9.6% 68.7% 

0.0% 21.7% 0.7% 14.9% 62.7% 

0.9% 9.1% 11.5% 7.7% 70.9% 



   
 

    

 1.4% 10.4% 8.3% 19.2% 60.7% 

0.0% 15.6% 5.5% 31.0% 47.9% 

2.0% 8.4% 9.4% 14.6% 65.7% 
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